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1. Introduction

This report is response to the comments mentioned in the report number
TR/CLAES/248/2002.9 titled with “Verification of the plant care
subsystem of CIT|EX”. The response is written in bold and italic after
each comment. Taking into consideration

The activities used to produce this report are as follows:

1. Random Walk through both the design report and implementation
report then documenting the differences between them.

Operating random test cases.

Operating test cases documented in report.

Summarize the result of testing usability of the system.

Conclusion.

Nh WD

2. Random Walk through design and implementation

concepts

Legal value
Design Implementation

Concept prperty

event

o The implementation is true

Rules
Suggestion model
difference
Rule no . .
Design Implementation
All rules importance

o The implementation is true
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3. Test Cases

Test case (1)
The following screen shows up twice
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o The method is to long to added in to the database, so it is exist as
a text file

TestCase(3)
The video clip for does not show any sound

TestCase(4)



o The method is to long to added in to the database, so it is exist as
a text file

4. Random test cases

Test case(1)
Input
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Output
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when we bush the the following screen appear
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and when clicking either of the buttons the following screen shows up



so why asking
e Solved

Test Case (2)

Input

I update the date of the plantation of farm h1 to be 30/9/2002 as shown in
the following screen
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and start to run the system the following message shows up
|

Error: Exception during
Prolog execution:

& rnight buttons :: plantcareA
mnstantiation error{ 216681
.1

Skip Meszages | Stack Trace
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Test Case (3)

Input
System date 1/1/2002
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Test case (4)

Input
System date is 2/10/2002
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Test Case (4)
Input
System date 1s 2/4/2002
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All the operations were not done and no operation were suggested

Test case (5)

When changing the irrigation system from <& To Ja8i 3

As follows
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the following error shows up and the system continue to execute

Error in Tcl Scripk |

Error: Exception during
Prolog execution:

& mnght buttons :: plantcareA
mstantiation error{ 21679<1

1)

Skip Messages Stack Trace

o Solved

5. Testing the usability of the system

Screen
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- It contains all the stages it should show only the stages according the

plantation date.
o Solved

- When executing one operation and it was saved in db and close the
system and reopen it the operation doesnot appear in

o Which case
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- There is no validation on the date of executing the operation so it will
not exceed the current date
o Solved

This property must be determined according to plantation date in database

e To allow the user to change it from “ Y to ¢ ?

The three compos
May make conflict to the user for example

Conflict with
Since it contains any of the values in the
o Solved

And also
Conflict with
So this screen needs to be modified to make sence
e Solved
Screen
Prompt of screen contain the errorence word
e Solved
Screen glii )
- Contains no field for the tool that was choosen by the user

- What is the the use of the field operation importance because the system
doesnot give the user the option of executing it or not.

Screen
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Aol Sodint oyl Ly
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there 1s no validation on the date so it willnot exceed the current date
o Solved
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6. General remarks

- All the individual screen have the label of Krol while it should hold a
label that signify the contents.

- We suggest to delete the button from all the screens
e Solved
- The following message show up when ending the system

MenuWindow: citex.exe - Application Error =

The insktrucktion at "0x77F&21e1" referenced memory at "Ox00000014" . The memory
could not be “read”.

Click. on ©k ko Eerminate the program

o Krol error

7. Conclusions
The system is acceptable after making the necessary corrections.
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